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Puzzle Questions for Bank Exams SBI Clerk, 
IBPS Clerk, SBI PO Pre, IBPS PO Pre and IBPS 
SO Pre exams 

PUZZLE TEST QUIZ 76 

Directions: Study the following information carefully and answer the 

questions given below: 

Six persons – Jevan, Parth, Anant, Bhavy, Nupur and Gopal, appeared for an 

interview in a management company. All the persons have different years 

of experience in field of management and were given a different rank from 

1 to 6 based on their performance in the interview. 

The experience of Jevan is more than that of Gopal but less than that of 

Nupur. 

Rank 6 is given to the person with most experience. 

Anant has less experience than Jevan. 

Rank of Anant and Bhavy are 5 and 3 respectively. 

Parth does not have the least experience. 

Gopal has a rank of 2. 

Parth has a less experience than Gopal. 

Anant is more experienced than at least two persons. 

 

  



 

 

1. How many person(s) are more experienced than Anant? 

A. One    B. Two    C. Three 

D. Either One or Two E. Either Two or Three 

2. If rank of Jevan is less than that of Gopal then what is the rank 

of Parth? 

A. 1    B. 2    C. 3 

D. 4    E. Can’t be determined 

3. How many person(s) ranked less than Bhavy? 

A. None   B. One    C. Two 

D. Three   E. Either Four or Two 

4. Who among the following persons have least experience? 

A. Bhavy   B. Anant   C. Nupur 

D. Anant   E. Can’t be determined 

 

 

 

 

 

Correct answers: 

1 2 3 4 

E A D A 

 



 

 

Common explanation: 
 
Order of experience: 
 
Nupur > Jevan > Anant/Gopal > Gopal/Anant > Parth > Bhavy 
 
Reference: 
 
Six persons – Jevan, Parth, Anant, Bhavy, Nupur and Gopal, appeared for an 
interview in a management company. All the persons have different years 
of experience in field of management and were given a different rank from 
1 to 6 on the basis of their performance in the interview. 
 
Inference: 
 
We will keep this information in mind while solving the puzzle. 
 
Reference: 
  
Gopal has a rank of 2. 
 
Rank of Anant and Bhavy are 5 and 3 respectively. 
  
Inference: 
  
After using the above hints, we have: 
  

Rank Person 

1 
 

2 Gopal 

3 Bhavy 

4 
 

5 Anant 

6 
 

 Reference: 
 
Rank 6 is given to the person with most experience. 



 

 

 
The experience of Jevan is more than that of Gopal but less than that of 
Nupur. 
 
Parth has a less experience than Gopal. 
 
Inference: 
 
At this point, we can say that Nupur has the most experience among these 
persons and either Parth or Jevan has ranks 1 and 4. 
  

Rank Person 

1 Parth/Jevan 

2 Gopal 

3 Bhavy 

4 Jevan/Parth 

5 Anant 

6 Nupur 

 
And, order of experience: 
 
Nupur > Jevan > Gopal > Parth 
 
Reference: 
 
Anant has less experience than Jevan. 
 
Anant has a more experience than at least two persons. 
 
Parth does not have the least experience. 
 
Inference: 
 
After using the above hints, we have: 
 
Order of experience: 



 

 

 
Nupur > Jevan > Anant/Gopal > Gopal/Anant > Parth > ____ 
 
At this point, we can say that Bhavy has least experience. 
 
Order of experience: 
 
Nupur > Jevan > Anant/Gopal > Gopal/Anant > Parth > Bhavy 
  
 

Explanations: 

1. 

Following the final solution, we can say that either two or three persons 

have more experience than Anant. 

Hence, the correct answer is option E 

2. 

Following the final solution, we can say that if rank of Jevan is less than 

Gopal then the rank of Parth is 1. 

Hence, the correct answer is option A. 

3. 

Following the final solution, we can say that three persons have less rank 

than Bhavy. 

Hence, the correct answer is option D. 

4. 

Following the final solution, we can say that Bhavy have least experience. 

Hence, the correct answer is option A. 
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